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PAPER – III 

COMMERCE 

Note : Attempt all the questions. Each question carries two (2) marks.  

SÔ¨¦ : GÀ»õ ÂÚõUPÐUS® Âøh¯ÎUPÄ®. JÆöÁõßÔØS® Cμsk (2) ©v¨ö£sPÒ.  

1. Among the following which one is an investing activity as per AS-3? 

1) Cash in hand 

2) Interest paid 

3) Redemption of debentures  

4) Purchases of fixed asset 

fPNo  nfhLf;fg;gl;litfspy;  AS-3apd;  gb  vit  fld;fis  kPl;Fk;    
nray;fspy;  <Lgl;Ls;sJ. 

1) if ,Ug;Gj; njhif 

2) ö\¾zv¯ tl;b 

3) flid  kPl;Ljy; 

4) Aø\¯õ nrhj;J thq;Fjy; 

2. AS-10 is not applicable to 

1) Land   2) Plant and machinery 

3) Live stock  4) Lease hold assets 

AS-10 fPNo nfhLf;fg;gl;ltw;wpy; vjw;Fg; nghWe;JtJ md;W 

1) epyk;   2) jhtuk; kw;Wk; ,ae;jpuk; 

3) fhy;;eilfs; 4) ö\õzvøÚ Jzv ÂkuÀ 

3. The segment of a business responsible for both revenue and expenses only is 

1) Cost centre 

2) Investment centre 

3) Profit centre  

4) Reporting centre 

tUkhdk;  kw;Wk; nryT vd;gJ thzpgj;jpy;  fPNo  Fwpg;gpl;ltw;wpy; ve;j 
gFjpapid  Fwpg;gpLfpwJ 

1) tpiy eph;zapf;Fk;  ikak; 

2) KjyPl;L ikak; 

3) ,yhg ikak; 

4) AÔÂUS® ikak; 
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4. Responsibility accounting aims at collecting and reporting costing information 

1) Department wise 

2) Cost centre wise 

3) Function wise 

4) Product wise 

fzf;fpLjypd;  Nehf;fk;  nghUs;fspd;  tpiyjfty;fis fPNo 
nfhLf;fg;gl;litfspy;  ve;j jfty; njhlh;ikaj;jpd; %yk; czh;j;Jfpd;wd 

1) Jiw hPjpahf 

2) tpiy eph;za ikak; hPjpahf 

3) nray;ghLfspd; hPjpahf 

4) EØ£zv¨ nghUs;fspd; hPjpahf 

5. AS-8 relates to 

1) Accounting for research and development 

2) Revenue recognition 

3) Accounting for fixed assets  

4) The effect of changes in fearing exchange rates 

AS-8 vd;gJ  vjDld; njhlh;GilaJ 

1) Bμõ´a] ©ØÖ® ÁÍºa]UPõP PnUS øÁzuÀ 

2) tUkhd ©v¨¥k 

3) Aø\¯õ nrhj;Jtptuj;ij fzf;fpLjy; 

4) gq;Fr; re;ij tpiykhw;wj;jhy; Vw;gLk; gak; ©ØÖ® ÂøÍÄPÒ 

6. AS-3 specifies that payment of dividend is a 

1) Operating activity 

2) Investing activity 

3) Financing activity  

4) General activity 

AS-3 tUkhd £QºÄ vd;gij vt;thW Fwp;g;gpLfpwJ 

1) eilKiwg;gLj;Jk; nray;fs; 

2) KjyPL nray;ghLfs; 

3) epjp xJf;fpLjy; 

4) nghJr; nray;ghLfs; 
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7. Under accrual basis of  accounting, transaction are recognized and recorded 

1) When they occur 

2) Only when cash or its equivalent is received or paid 

3) Both (1) and (2)  

4) Not recorded in current year 

fzf;fpLjy;  gzkhw;wk; ,it vjd; mbg;gilapy; tl;bj; njhifia vJ 
cWjpg;gLj;JfpwJ. 

1) AøÁPÒ HØ£k®÷£õx 

2) £n® ©ØÖ® AuØS Cøn¯õÚøu ö£Ö® ö£õÊx®/ö\¾zx® ö£õÊx® 

3) (1) kw;Wk; (2) 

4) elg;G tUlj;jpy; SÔUP¨£hõux 

8. Among the following which one is not the function of stock exchanges? 

1) Liquidity and marketability of security 

2) Source of long term funds 

3) Helps in capital formation 

4) Marketing of social capital 

vit  xd;W gq;F re;ij khw;wj;jpd; ,af;fj;ij Fwpg;gplhjit 

1) epiyahd  re;ijapd;  ghJfhg;G jd;ik 

2) ePz;lehs; epjpapd; Mjhuq;fs; 

3) KjyPL JxURmiØS EuÂ 

4) rKjha  •u½kPøÍ ÂØ£øÚUSm£kzuÀ 

9. An agreement to buy or sell an asset for a specified data for a specified price is called 

1) Future contracts 

2) Forward contracts 

3) Swaps 

4) Baskets 

xU  nrhj;ij  thq;Ftjw;Nfh my;yJ tpw;gjw;Nfh mij Fwpg;gpl;l gj;jpuj;jpy;  

Fwpg;gpl;l tpiyapy;  eph;zak;  nra;tij ––––––––––––– GßQ÷Óõ®. 

1) vjph;fhy tpahghu J¨£¢u® 

2) J¨£¢uzøu •ßöÚkzxa ö\À¾uÀ 

3) £sh©õØÖ •øÓ 

4) $il Â¯õ£õμ® 
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10. A derivative is a 

1) Derived asset 

2) Derived Financial asset 

3) Derived from net asset  

4) None of the above 

vLf;fg;gLk; nghUs; vd;gJ 

1) Qøhzu ö\õzx 

2) {v¯õP Qøhzu ö\õzx 

3) nkhj;j nrhj;J njhifapypUe;J fpilf;Fk; tuT  

4) vitAk; my;y 

11. Foreign Currency Exchange Risks can be hedged in 

1) Options Market 2) Future Market 

3) Money Market  4) All of the above 

ntspehl;L me;epa  nryhthzp khw;wk; nra;Ak;  NghJ Vw;gLk;  fbdj;jd;ik 
vd;gJ 

1) tpUg;gk;rhh; re;ij 2) vjph;fhyr;re;ij 

3) gzr;re;ij 4) ÷©Øö\õßÚ AøÚzx® 

12. Which one of the following is not a Money Market Instrument? 

1) Commercial paper 2) Warrants 

3) Participatory Certificate 4) Treasury Bills 

fPNo nfhLf;fgl;litfspy; vJ gzr;re;ij fUtpahf gad;gLj;jg;gltpy;iy? 

1) tzpf gj;jpuk; 2) Põ»Áøμ²ÒÍ EzuμÁõu® 

3) nray;ghLfspd; \õßÔuÌ ; 4) fUT+y urPJfs; 

13. If the Spot Price is higher than the strike price in a call option, it is called 

1) At the money 2) In the money 

3) Out of the money  4) Premium 

Nghl;b nghUs;fspd;  tpiy vd;gJ xU ,lj;jpy; cs;s nghUspd;  tpiyiatpl 
mjpfkhf ,Uf;Fk;NghJ mij vt;thW miof;fyhk;? 

1) J¸ AÍÄ £nzvß ‰»® 2) gzj;jpDs; 

3) £nªßÔ  4) gphpkpak; 

14. The Accounting Standard showing the effect of changes in Foreign exchange rates is 

1) AS-13  2) AS-11 

3) AS-18   4) AS-20 

fzf;fPl;bd;  juj;jpd; tpisthdJ me;epa  nrythzpapd;  khw;W tpfpjj;jpid 

1) AS-13  2) AS-11 

3) AS-18   4) AS-20 
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15. Among the following, which one is not a Non- systematic risk? 

1) Default risk 

2) Liquidity risk 

3) Interest rate risk  

4) Financial risk 

fPNo nfhLf;fgl;Ls;sitfspy; vit xd;W  Kiwapy;yhj mghaj; jd;ik 

1) epiwNtw;Wtjpy;  mghaj; jd;ik 

2) epiyapy;yhjtw;wpy; mghaj; jd;ik 

3) tl;btpfpjj;jpy; mghaj; jd;ik 

4) epjpapy; mghaj; jd;ik 

16. The key term in the ‘American Marketing Association’s definition  of marketing is 

1) Activity  2) Sales 

3) Product   4) Value 

mnkhpf;fhtpd; khh;f;nfl;by;  mNrhrpNard; vd;gjpy;  khh;nfl;bq; vd;w  
thh;j;ijia gpd;tUtdtw;wpy; xd;wpid  eph;zapf;fyhk; 

1) nray;ghLfs; 2) tpw;gid 

3) nghUl;fs;  4) kjpg;G 

17. The product concept says that a company should 

1) Devote its energy to making continuous product improvements 

2) Make promoting products the top priority 

3) Market only those products with high customer appeal.  

4) Focus on the target market and make products that meet those customer’s 
demands 

EØ£zv GßÓ £u® : P®ö£Û Gß£øu ––––––––––––– 

1) öuõhºa]¯õÚ EØ£zv •ß÷ÚØÓzvØS EøÇ¨ø£U öPõk¨£x 

2) E¯ºÁøP EØ£zvø¯¨ ö£¸USÁx 

3) ÁõiUøP¯õÍºPÎß ÷uøÁUQn[P \¢øu°À ÷uøÁ¯õÚ ö£õ¸mPÒ 

4) ÁõiUøP¯õÍºPÎß ÷uøÁU÷PØ£ EØ£zv ö\´x ÂØ£øÚ ö\´ÁvÀ SÔ¯õP 
C¸zuÀ 

18. The term marketing Myopia was written by 

1) Philip Kotler 2) Royal Dutch Shell 

3) Theodore Levitt  4) Henry Ford 

khh;nfl;bq; kNahgpah’it vOjpath; 

1) gpypg; Nfhl;yh; 2) uhay; lr; öéÀ 

3) jpNahlh; nytpl; 4) n`d;wp L÷£õºk 
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19. “Better products, Better value, better living” is the mission statement of which 
company? 

1) VICCO  2) HUL 

3) P&G    4) NIRMA 

cw;gj;jp nra;j nghUspd; juk;> jukhd kjpg;G> jukhd tho;f;if  vd;gjid  
Fwpf;Nfhshf  nfhz;Ls;s fk;ngdp: 

1) VICCO  2) HUL 

3) P&G    4) NIRMA 

20. Which one of the following factor relates to family that influences consumer 
behaviour? 

1) Cultural  2) Social 

3) Personal   4) Business 

RÌUPsh Sk®£z öuõhº¦ÒÍ PõμoPÎÀ Gx ~Pº÷Áõ›ß £ÇUP ÁÇUP[PøÍ¨ 
£õvUQÓx? 

1) fyhr;rhuk;  2) rKjhak; 

3) uÛ¨£mh  4) tpahghuk; 

21. The total number of items that the company carries within its product lines refers to 
the  ———————— of the product mix 

1) Width  2) Depth 

3) Length   4) Consistency 

xU epWtdk; mjd; jahhpg;G thpirapy; nkhj;j vz;zpf;ifapyhd $Wfisf; 
nfhz;bUj;jy; ———————— nghUs; $l;L vd;W Fwpf;fg;gLfpwJ  

1) mfyk;  2) Mok; 

3) ePsk;   4) epiyjfT 

22. Offsite marketing means 

1) Sales persons 

2) Marketing inside the branch 

3) Marketing function outside the branch  

4) Marketing in the production department 

Gw js mq;fhbg;gLj;jy; vd;gjd; nghUs; 

1) tpw;gid Ml;fs; 

2) fpisf;Fs; mq;fhbg;gLj;jy; 

3) fpisf;F ntspNa mq;fhbg;gLj;Jk; gzp 

4) cw;gj;jpj; Jiwapy; mq;fhbg;gLj;jy; 
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23. Brand and customer equity is an element of 

1) Relationship marketing 

2) Integrated marketing 

3) Internal marketing   

4) Performance marketing 

gpuhz;l; kw;Wk; thbf;ifahsh; <f;tpb vd;gJ 

1) njhlh;Gila mq;fhbg;gLj;jy; 

2) J¸[Qøn¢u mq;fhbg;gLj;jy; 

3) cs; mq;fhbg;gLj;jy; 

4) nray;jpwd; mq;fhbg;gLj;jy; 

24. According to brand personality traits, ‘Sincerity’ is included as brand being    

1) Out doors and tough 

2) Daring and imaginative 

3) Cheerful and wholesome  

4) Charming and upper class 

gpuhz;L MSikj; jd;ikapd;gb> Neh;ik vd;gJ gpuhz;lhfr; Nrh;f;fg;gl;Ls;sJ 

1) Gwta kw;Wk; fbd 

2) ijhpakhd kw;Wk; fw;gid epiwe;j 

3) ©QÌa]¯õÚ kw;Wk; KOikahd 

4) ,dpa cah; th;f;fk; 

25. Co-branding is also known as 

1) Dual building  

2) Brand building 

3) Pure building   

4) both 1) and 2) 

Nfh – gpuhz;bq; vd;gJ ,q;qdk; mwpag;gLfpwJ 

1) ,ul;ilf; fl;likg;G  

2) gpuhz;l; fl;likg;G 

3) J}a fl;likg;G  

4) 1) kw;Wk; 2) 
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26. Which of the following not part of group influence? 

1) Personality  

2) Social group 

3) Reference group   

4) Social class 

fPo;f;fz;ltw;Ws; vJ FO ghjpg;gpw;F MshfhjJ? 

1) MSik   

2) r%ff; FO 

3) Fwpg;gPl;Lf; FO  

4) r%f th;f;fk; 

27. In mark up pricing, unit price is calculated by 

1) Variable cost + ( fixed cost /unit sales) 

2) Variable cost + fixed cost 

3) (Variable cost/unit sales) +fixed cost 

4) Supply chain dimension 

tpiy eph;zapj;jypy; myF tpiy ,q;qdk; fzf;fplg;gLfpwJ? 

1) khwp tpiy  + (epiy tpiy / tpw;gid myFfs;) 

2) khwp tpiy  +  epiy tpiy 

3) (khwp tpiy / tpw;gid myFfs;) +  epiy tpiy 

4) tpepNahfr; rq;fpyp ghpkhzk; 

28. Point of purchase Ads are also known as 

1) In store advertising 

2) Built in advertising 

3) Green advertising  

4) Stock advertising 

‘thq;Fk; Gs;sp tpsk;guq;fs;’ ,q;qdk; mwpag;gLfpd;wd 

1) filapy; tpsk;gug;gLj;jy; 

2) fl;likf;fg;gl;l tpsk;gug;gLj;jy; 

3) gRik tpsk;gug;gLj;jy; 

4) ifapUg;G tpsk;gug;gLj;jy; 
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29. A company using high price and high promotion policy is adopting the following 
strategy 

1) Slow skimming 

2) Rapid penetration 

3) Slow penetration  

4) Rapid skimming 

xU epWtdk; cah;e;j tpiy> cah;e;j Nkk;ghl;Lf; nfhs;iff;Ff; fPo;f;fz;l 
cj;jpKiwiaf; ifahSfpwJ 

1) nkJthf mfw;Wjy; 

2) Ntfkhf Nt&d;wy; 

3) nkJthf Nt&d;wy; 

4) Ntfkhf mfw;Wjy; 

30. Which method could a marketing researcher use to obtain information that people are 
unwilling or unable to provide? 

1) Focus group  

2) Personal interviews 

3) Observational Research   

4) Questionnaires 

kf;fs; nrhy;y tpUk;ghj my;yJ nrhy;y ,ayhj jftiyg; ngWtjw;F re;ij 
Ma;thsh; ve;j Kiwiag; gad;gLj;Jthh;? 

1) Nghf]; FO  

2) jdpg;gl;l Neh;fhzy;fs; 

3) cw;WNehf;fy; Ma;TKiw  

4) tpdh epuy;fs; 

31. How can accidents be reduced in industry? 

1) By proper training 

2) By installation of safety equipment 

3) By safety programme  

4) All of the above 

njhopw;rhiyfspy; vq;qdk; tpgj;Jf;fs; jtph;f;fg;glyhk;? 

1) rhpahd gapw;rpaspg;gjd; %yk; 

2) ghJfhg;Gf; fUtpfis epWTjy; %yk; 

3) ghJfhg;Gj; jpl;lj;jpd; %yk; 

4) Nkw;nrhd;d midj;Jk; 
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32. Sequence the following in which they are practiced 

(a) Promotion 

(b) Performance appraisal 

(c) Recruitment 

(d) Training and development 

1) (c) (b) (d) (a) 

2) (c) (b) (a) (d) 

3) (c) (a) (d) (b) 

4) (c) (d) (b) (a) 

vt;tifapy; nraw;gLj;jg;gLfpwNjh> mt;tifapy; fPo;f;fz;ltw;iw xOq;F nra;f. 

(a) Nkk;gLj;Jjy; 

(b) nray;jpwd; kjpg;gPL 

(c) ÷Áø»US BÒ GkzuÀ 

(d) gapw;rp kw;Wk; Kd;Ndw;wk; 

1) (c) (b) (d) (a) 

2) (c) (b) (a) (d) 

3) (c) (a) (d) (b) 

4) (c) (d) (b) (a) 

33. Job evaluation is a technique which aims at 

1) Establishing fair and equitable pay structure 

2) Analyzing requirement of updating technology 

3) Assessing safety requirement of jobs  

4) Improving productivity 

gzp kjpg;gPL GßÓ cj;jp fPo;f;fhZk; Nehf;FilaJ 

1) epahakhd> rkd; rk;gs mikg;ig epWTjy; 

2) Nkk;gLj;Jk; njhopy;El;gj; Njit Fwpj;Jg; gFg;gha;jy; 

3) gzpfspd; ghJfhg;Gj; Njitia kjpg;gply; 

4) cw;gj;jpia mjpfhpf;fr; nra;jy; 
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34. Preparation of consolidated statement of account as per AS – 21 is 

1) optional 

2) mandatory for private limited companies 

3) mandated for listed companies  

4) mandatory for all companies 

fzf;Ffspd; $l;lwpf;ifj; jahhpg;G vd;gJ AS – 21 ,d; gb 

1) tpUg;gQ;rhh;e;jJ 

2) jdpahh; epWtdq;fSf;Ff; fl;lhakhdJ 

3) gl;bayplg;gl;l epWtdq;fSf;Ff; fl;lhakhdJ 

4) midj;J epWtdq;fSf;Fk; fl;lhakhdJ 

35. Assertion : (A) Wage boards are set-up by the government of india for fixation and 

revision of wages. 

Reason : (R)  Wage boards are not governed by any legislation, but are 

appointed on an adhoc basis by the government. 

Codes : 

1) Both (A) and (R) are true 

2) Both (A) and (R) are false 

3) (A) is true, but (R) is false  

4) (R) is true, but (A) is false 

cWjpthf;fpak; (A)  Cjpaf; FOf;fs; ,e;jpa murhy; epakpf;fg;gLtJ.  

Cjpaj;ij eph;zapf;fTk; khw;wpikf;fTk; 

fhuzk; (R)   Cjpaf; FOf;fs; ve;j xU rl;ltpjpg;gbAk; eph;tfpf;fg;gLtJ 

,y;iy> Mdhy; mit murhq;fj;jhy; epakpf;fg;gLk; 

,ilf;fhyj; jd;ikad. 

FwpaPLfs; : 

1) (A) kw;Wk; (R) Mfpa ,uz;Lk; nka; 

2) (A) kw;Wk; (R) Mfpa ,uz;Lk; ngha; 

3) (A) nka; Mdhy; (R) nka;ad;W 

4) (R) nka; Mdhy; (A) nka; md;W 
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36. Goods that enter completely into manufacturing of product are classified 

1) supplies service 

2) materials and parts 

3) capital item  

4) business services 

nghUs; jahhpg;gpw;Fs; GFk; midj;Jg; nghUl;fSk; ,q;qdk; 
tifg;gLj;jg;gLfpd;wd.  

1) kpifr; Nrit 

2) Njitahd %yg;nghUl;fSk;> gFjpfSk; 

3) %yjdf;$W 

4) tzpfr; Nritfs; 

37. ‘360’ degree relates to 

1) Organizational climate 2) Retrenchment 

3) Performance appraisal  4) Employees morale 

360 Nfhzk; ,jDld; njhlh;GilaJ 

1) epWtdf; fUj;Jr;R+oy; 2) Ml;Fiwg;G 

3) jdpahs; gzpj;jpwd; kjpg;gPL 4) Copah; kdg;ghd;ik 

38. Training information system included 

1) Training aids 

2) Internal and External Faculty 

3) Training resources  

4) Training needs 

‘gapw;rpj; jfty; mikg;G’ ,ij cs;slf;fpaJ 

1) gapw;rpf; fUtpfs; 

2) cs;spay; kw;Wk; Gwtpay; Gyj;jpdh; 

3) gapw;rp tsq;fs; 

4) gapw;rpj; Njitfs; 

39. Which of the following techniques of performance appraisal is least susceptible 
to personal bias? 

1) 360 degree appraisal system 

2) Forced- choice method 

3) Ranking method  

4) Check list 

fPNo jug;gl;Ls;s uÛ¯õÒ gzpj;jpwd; kjpg;gPl;L cj;jpfspy; ve;j xd;W jdpg;gl;l 
ghugl;rj;Jf;F kpfTk; Fiwthf Ml;gLtJ 

1) 360 Nfhz nray;jpwd; kjpg;gPl;L mikg;G 

2) type;J jpzpf;fg;gLk; - tpUg;G Kiw 

3) juthpir Kiw 

4) rhpghh;g;Gg; gl;bay; 
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40. Assertion (A) : Employee development is more future oriented and more concerned 
with education than employee training. 

Reason (R) :  Apprenticeship programmed is one of the widely used off the job 
training method. 

1) (A) and (R) both are the correct 

2) (A) and (R) both are the incorrect 

3)  (A) is correct but (R) is incorrect 

4) (A) is incorrect but (R) is correct 

cWjpthf;fpak; (A) Copah; Kd;Ndw;wk; vd;gJ nghpJk; vjph;fhyj;ij Nehf;fpaJ 
kw;Wk; Copah; gapw;rpia tpl CopauJ fy;tpAld; nghpJk; mf;fiw cilaJ 

fhuzk; (R) gzpg;gapw;rpj; jpl;lk; vd;gJ Gw gzpg;gapw;rp Kiwahfg; gutyhfg; 
gad;gLj;jg;gLfpwJ 

1) (A) kw;Wk; (R) ,uz;Lk; rhp 

2) (A) kw;Wk; (R) ,uz;LNk rhpad;W 

3) (A) rhp Mdhy; (R) rhpad;W 

4) (A) rhpad;W Mdhy; (R) rhp 

41. Which four are the factor influencing the Human Resource Management of 
an organisation. 

(I) Size of workforce 

(II) Employee Expectations 

(III) Composition of work force 

(IV) Political influence 

(V) Change in technology 

1) (I), (II), (III) and (IV)  

2) (I), (II), (III) and (V)  

3) (I), (II), (IV) and (V) 

4) (I), (III), (V) and (IV) 

kdpjts eph;thfj;jpy; jhf;fj;ijj; Njhw;Wtpf;Fk; ehd;F $Wfs; vit? 

(I) gzptpir msT 

(II) Copah; vjph;g;ghh;g;Gfs; 

(III) gzptpirf; $l;likT 

(IV) murpay; jhf;fk;  

(V) njhopy;El;g khw;wk; 

1) (I), (II), (III) and (IV)  

2) (I), (II), (III) and (V)  

3) (I), (II), (IV) and (V) 

4) (I), (III), (V) and (IV) 
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42. Which is the Principles of Human Relations? 

1) Principle of work recognition 

2) Principle of participation 

3) Principle of motivation  

4) All of the above 

ve;j xd;W kdpj cwTrhh; fUj;jhf;fk; 

1) gzp mq;fPfhpg;Gf; öPõÒøP 

2) gq;Nfw;Gf; öPõÒøP 

3) Cf;Ftpg;Gf; öPõÒøP 

4) Nkw;nrhd;d midj;Jk; 

43. Which of the following statement is correct in context to arbitrator? 

1) Arbitrator cannot appoint assessors 

2) Arbitrator can appoint assessors 

3) Arbitrator is a person of central government  

4) Arbitrator is a person of State government 

fPNo jug;gl;Ls;s thf;fpaq;fspy; ve;j xd;W rkurk; vd;gJld; njhlh;GgLj;jpf; 
fhZk;NghJ rhpahdJ? 

1) kj;jpa];jh; kjpg;gPl;lhsh;fis epakpf;f KbahJ 

2) kj;jpa];jh; kjpg;gPl;lhsh; epakpf;fyhk; 

3) kj;jpa];jh; ika muRrhh; kdpjh; 

4) kj;jpa];jh; khepy muRrhh; kdpjh; 

44. Which one of the following technique is a least susceptible to personal bias? 

1) Forced choice  

2) Behaviorally anchored rating scale 

3) Critical accident  

4) Checklist and weighted checklists 

fPo;f;fz;l cj;jpfspy; ve;j xd;W jdpegh; ghugl;rj;jpw;F kpff; Fiwthf 
Ml;gLtJ? 

1) jpzpf;fg;gLk; tha;g;G 

2) elj;ijrhh; eq;$ukplg;gl;l kjpg;gPl;L msTNfhy; 

3) fLikahd tpgj;J 

4) rhpghh;g;Gg; gl;bay;fs; kw;Wk; vil$l;lg;gl;l rhpghh;g;Gg; gl;bay;fs; 
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45. Section ———————— of the Industrial Disputes Act 1947, states that an employer 
should only retrench employees who have been most recently hired 

1) 24–F 

2) 24–G 

3) 25–F  

4) 25–G 

njhopw;rhiyj; jhthf;fs; rl;lj;jpd; 1947> ve;j tpjp xU Kjyhsp kpf mz;ikf; 
fhyj;jpy; ngwg;gl;l Copaiu kl;LNk ePf;fyhk; vd;fpwJ. 

1) 24–F 

2) 24–G 

3) 25–F  

4) 25–G 

46. Out of the following, one is not related with WTO? 

1) TRIPS 

2) Ministerial Conference 

3) TRIMS  

4) TRAI 

fPo;f;fz;ltw;Ws; xd;W WTO Tld; njhlh;GilaJ md;W? 

1) TRIPS 

2) mikg;Grhh; fUj;juq;F 

3) TRIMS 

4) TRAI 

47. BRICS includes 

1) Bhutan,  Romania, Indonesia, Chile and South Korea 

2) Brazil, Russia, Indonesia, China and Sudan 

3) Brazil, Russia, India, China and South Korea  

4) Britain, Russia, India, Czechoslovakia, Sri Lanka 

BRICS cs;slf;fpaJ 

1) G+lhd;> Nuhkhdpah> ,e;NjhNdrpah> rpyp> njd;nfhhpah 

2) gpNurpy;> u~pah> ,e;NjhNdrpah> rPdh kw;Wk; R+lhd; 

3) gpNurpy;> u~pah> ,e;jpah> rPdh kw;Wk; njd;nfhhpah 

4) gphpl;ld;> u~pah> ,e;jpah> nrf;Nfh];Nyhthf;fpah> =yq;fh 
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48. Foreign Exchange and Foreign Currencies in India are governed by 

1) RBI 

2) Banking Regulation Act 

3) FEMA Act  

4) SEBI Act 

,e;jpahtpy; md;dpar; nryhtzp kw;Wk; md;dpag; gzg;ghpth;j;jidfs; ,jd;top 
eph;tfpf;fg;gLfpd;wd 

1) ,e;jpa hprh;t; tq;fp 

2) tq;fp xOq;Fr; rl;lk; 

3) Lö£©õ rl;lk; 

4) nrgp rl;lk; 

49. The common goal of the MNC is to 

1) Maximize short-term earnings 

2) Minimize the risk 

3) Maximize shareholders wealth  

4) Maximize the benefits to employees 

gd;dhl;L epWtdq;fspd; nghJthd ,yf;F 

1) FWfpa fhyj;jpw;Fs; kpf mjpf tUtha; <l;ly; 

2) neUf;fbfisf; Fiwj;jy; 

3) gq;Fjhuh;fsJ nrhj;Jf;fis mjpfhpj;jy; 

4) Copah;fsJ gyd;fis mjpfhpj;jy; 

50. GATS  cover regulations relating to 

1) Tourism 

2) Automobile Manufacturing 

3) Agriculture  

4) Capital goods 

GATS xOq;FKiwfs; ,jDld; njhlh;Gilad 

1) Rw;Wyhj;Jiw 

2) jhdpaq;fp nghUl;fs; jahhpg;G 

3) tptrhak; 

4) KjyPl;Lg; nghUl;fs; 
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51. NAFTA was setup in 

1) 1991      

2) 1999                 

3) 1994                              

4) 2000 

NAFTA ,e;j Mz;L mikf;fg;gl;lJ 

1) 1991      

2) 1999                 

3) 1994                              

4) 2000 

52. At present,100 per cent FDI is allowed in 

1) Defence   

2) Drugs and Pharmaceuticals    

3) Banks    

4) Insurance 

mz;ikf;fhyj;jpy; E}W tpOf;fhL md;dpa Neub KjyPL ,j;Jiwapy; 
mDkjpf;fg;gl;Ls;sJ 

1) ghJfhg;Gj;Jiw 

2) kUe;Jfs; kw;Wk; kUe;;J njhopw;rhiyfs; 

3) tq;fpfs; 

4) fhg;gPL 

53. Foreign exchange market is considered 24-hour market because 

1) It is open all through the day 

2) All transactions are to be settled within 24 hours 

3) Due to geographical dispersal at least one market is active at any point of time  

4) Minimum 24 hours must lapse before any transaction is settled 

me;epag; ghpth;j;jid mq;fhb vd;gJ 24 kzp Neu mq;fhb vd;W fUjg;gLfpwJ> 
Vnddpy;> 

1) KOehSk; jpwe;jpUf;fpwJ 

2) vy;yhg; ghpth;j;jidf;fSk; 24 kzpNeuj;jpw;Fs; Kbf;fg;gl Ntz;Lk; 

3) Gtpapay; guty;gb ve;j Neuj;jpYk; VjhtJ xU mq;fhbahtJ ,aq;fpf; 
nfhz;bUf;Fk; 

4) ve;j ghpth;j;jidAk; 24 kzp Neuj;jpw;Fs; Kbf;fg;glhtpl;lhy; 
nry;Ygbaw;wjhfp tpLfpwJ 
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54. The demand for domestic currency in the foreign exchange market is indicated by the 
following transactions in balance of payments : 

1) Export of goods and services 

2) Import of goods and services 

3) Export of goods and services and capital inflows  

4) Import of goods and services and capital outflows 

cs;ehl;Lf; fud;rpf;fhd Njit md;dpa ghpth;j;jid mq;fhbapy;> fPo;f;fhZk; 
gztoq;Fr; rkd;ikg; ghpth;j;jidfs; Fwpg;gplg;gLfpd;wd 

1) nghUl;fs; kw;Wk; Nritfspy; Vw;Wkjp 

2) nghUl;fs; kw;Wk; Nritfspd; ,wf;Fkjp 

3) nghUl;fs;> Nritfs; Vw;Wkjp kw;Wk; KjyPL cs;Gfy; 

4) nghUl;fs; kw;Wk; Nritfs; ,wf;Fkjp kw;Wk; KjyPL ntspg;gha;jy; 

55. Foreign currency exposure can be avoided by 

1) Entering into forward contracts 

2) Denominating the transaction in domestic currency 

3) Exposure netting  

4) Maintaining foreign currency account 

md;dpa gz vjph;g;gly; ,q;qdk; jtph;f;fg;gLfpwJ 

1) Kd;Ndhf;F xg;ge;jq;fspy; GFjy; 

2) ghpth;j;jidia cs;@h; fud;rp ©v¨¥mhÀPÒ 

3) vjphpL ,izg;G 

4) md;dpa gzf; fzf;iff; nfhz;bUj;jy; 

56. Under FEMA, the Reserve Bank of India has been authorised to make ——————— 
to carry out the provisions of the Act 

1) Rules 

2) Regulations 

3) Both rules and regulations  

4) Notifications 

FEMA tpd; fPo; ,e;jpa hprh;t; tq;fp rl;ltpjpfisr; nraw;gLj;jTk; —————— 
cUthf;fTk; mjpfhukpf;fjha; tpsq;FfpwJ 

1) tpjpfs; 

2) xOq;FKiwfs; 

3) tpjpfSk; xOq;FKiwfSk; 

4) mwptpg;Gfs; 
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57. The strategy of deflation employed to correct balance of payments deficit includes use 
of   

1) Monetary policy 

2) Fiscal policy 

3) Both fiscal and monetary policy  

4) Exchange rate policy 

gz toq;fy; gw;whf;Fiwiar; rkd;gLj;j ———————— epjpr; nrhw;g 
cj;jpKiw ifahsg;gLfpwJ 

1) gzf; nfhs;if 

2) epjpf; nfhs;if 

3) epjp kw;Wk; gzf; nfhs;if ,uz;LNk 

4) ghpth;j;jid tpfpjf; nfhs;if 

58. Maximum amount that an Indian company can issue as GDR in a year is 

1) USD 500 million 

2) USD 30 million 

3) USD 20 million  

4) No monetary ceiling 

xU Mz;by; ,e;jpa epWtdk; ntspapLk; GDR ,d; mjpf gl;r msT 

1) USD 500 kpy;ypad; 

2) USD 30 kpy;ypad; 

3) USD 20 kpy;ypad; 

4) gz tuk;G VJkpy;iy 

59. The term ‘Intellectual Property Rights’ covers? 

1) Copyrights 

2) Know-how 

3) Trade dress  

4) All of the above 

mwpTrhh; nry;t chpikfs; vij cs;sPlhff; nfhz;bUg;gd 

1) fhg;Ghpikfs; 

2) vg;gb vd;W njhpe;jpUj;jy; 

3) ÁoPa rhh;gpd 

4) Nkw;nrhd;d midj;Jk; 
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60. Which of the following is not an advantage of exporting? 

1) Easier way to enter into international markets. 

2) Comparatively lower risk 

3) Limited presence in foreign markets 

4) Less investment requirements 

fPo;f;fz;l ve;j xd;W> Vw;Wkjpapd; gyd; md;W? 

1) rh;tNjr mq;fhbfSf;Fk; Eiotjw;fhd vspjhd top 

2) xg;gpay; Nehf;fpy; Fiwthd neUf;fb 

3) me;epa mq;fhbfspy; Fiwthd gq;Nfw;G 

4) Fiwe;j KjyPl;Lj; Njitfs; 

61. Family pension received by legal heirs or widow, will be taxed under the head 

1) Salary 

2) Other sources 

3) Not Taxable  

4) Both salary and other sources 

fPo;f;fz;l jiyg;gpd; fPo; thpr; nrYj;jf;$ba thhpRfs; top tpjit top ngw;w 
FLk;g ey Xa;T Cjpak; 

1) Cjpak; 

2) NtWtopfspy; 

3) thpnrYj;jhj 

4) Cjpak; kw;Wk; NtWtopfspy; 

62. Advance salary and Arrear salary are taxed on 

1) On receipt basis 

2) On due basis 

3) Advance salary on  receipt basis and arrear salary on due basis  

4) Advance salary on due basis and arrear salary on receipt basis 

Kd;djhf mspf;fg;gLk; rk;gsk; kw;Wk; epYitapYs;s rk;gskhdJ thpf;F 
cl;gLj;jg;gLk; 

1) μ^x mbg;gilapy; 

2) epYit mbg;gilapy; 

3) μ^x ‰»©õP Kd;djhf ngwg;gLk; rk;gsk; kw;Wk; epYitapd; ngwg;gl;l 

\®£Í® 

4) μ^vß; mbg;gilapy; ngwg;gLk; rk;gsk; kw;Wk; epYitapYs;s rk;gsk; 
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63. Domestic  Servants are taxed as perquisites for 

1) Specified employees 

2) Unspecified employees 

3) Both 1 and 2  

4) Not taxable 

Kd;dh; Njitf;fhf tPl;LNtiyahl;fSf;F thp tpjpj;jy; 

1) Fwpg;gpl;l Ntiyahl;fs; 

2) Fwpg;gplhj Ntiyahl;fs; 

3) 1 kw;Wk; 2 

4) thp tpjpg;gpw;F cl;glhj 

64. Employers contribution towards RPF over ––––––––––––– is taxable as salary. 

1) 12%   2) 9.5% 

3) 8%    4) 10% 

RPF f;fhd Kjyhspfspd; gq;fspg;G ––––––––––––– thpf;Fl;lgl;l rk;gskhf 

fUjg;gLfpwJ 

1) 12%   2) 9.5% 

3) 8%    4) 10% 

65. If salary is received from more than one employer in the PY, the amount will be taxed 

as follows 

1) Both will be combined and will be taxed under salary 

2) One will be taxed and One will be exempted 

3) Both will be exempted  

4) Both will be separately taxed 

xd;Wf;F Nkw;g;gl;l KjyhsplkpUe;J  PY> rk;gsk; thq;FNthUf;F fPo;f;;fz;lthW 

thp tpjpf;fg;gLk; 

1) \®£ÍzvØS ,uz;Lk; Nrh;j;J xd;whf thp tR+ypf;fg;gLk; 

2) xU Cjpaj;jpw;F thpAk; kw;nwhU Cjpaj;jpw;F tpyf;Fk; mspf;fg;gLk; 

3) ,uz;L Cjpaq;fSf;Fk; thp tpyf;F mspf;fg;gLk; 

4) ,uz;bw;Fk; jdpj;jdpahf thp tR+ypf;fg;gLk; 
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66. If property is used for assessor’s own business or profession, the income will be taxed 
under the head: 

1) House property 

2) Salary 

3) Business or profession  

4) Other sources 

thpfl;Lgth; nrhj;jpid tpahghuj;jpw;fhfNth my;yJ njhopYf;fhfNth 
gad;gLj;jpdhy; mjpypUe;J tUk; tUkhdj;Jf;Fk; fPo;f;fz;l jiyg;gpy; thpr; 
nrYj;jg;gLk; 

1) tPl;Lnrhj;J 

2) Cjpak; 

3) tpahghuk; kw;Wk; njhopy; 

4) ,ju topfs; 

67. The excess of value after deducting Municipal or Local tax is called 

1) Gross Annual Value 

2) Net Annual Value 

3) Annual Rent  

4) Municipal Value 

cs;@h; kw;Wk; efuhl;rp thpfis fopj;jgpwF thp kjpg;gpid 

1) nkhj;j tUl kjpg;G 

2) epfu tUl kjpg;G 

3) tUl thlif 

4) efuhl;rp kjpg;G 

68. Pre-construction or completion is allowed as deduction in 

1) 4 equal installments 

2) 5 equal installments 

3) 10 equal installments  

4) 20 equal installments 

fl;Ltjw;F Kd;G my;yJ fl;bKbe;jepiyapy; £nzøuU Fiwg;gjw;F  

––––––––––––– mDkjptoq;fg;gLfpwJ 

1) 4 rkkhd jtizfs; 

2) 5 rkkhd jtizfs; 

3) 10 rkkhd jtizfs; 

4) 20 rkkhd jtizfs; 
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69. Section 44AA deals with 

1) Compulsory Audit of Accounts 

2) Compulsory Maintenance of Books 

3) Estimated Incomes  

4) Undisclosed incomes 

gphpT 44AA ifahSfpwJ 

1) fl;lha fzf;Fjzpf;if 

2) fl;lha Gj;jf guhkhpg;G 

3) jpl;lkpl;l tUkhdk; 

4) fzf;fpy; fhl;lg;glhj tUkhdk; 

70. Deduction towards contribution to Approved Scientific Research Association is 

1) Upto 100 % 2) Upto 200 % 

3)  Upto 125 % 4) Upto 175 % 

mDkjpf;fg;gl;l tpQ;Qhd Muha;r;rp rq;fq;fSf;F nfhLf;fg;gLk; nfhilfSf;fhd 
thptpyf;F 

1) 100 % tiu 2) 200 % tiu 

3) 125 % tiu 4) 175 % tiu 

71. Agricultural income is totally exempted from tax 

1) U/S 10(1)  2) U/S 2(9) 

3) U/S 18(1)   4) U/S 2(31) 

tptrha tUtha;f;F KOikahd thptpyf;F 

1) U/S 10(1)  2) U/S 2(9) 

3) U/S 18(1)   4) U/S 2(31) 

72. Which of the following income from other sources is not taxable? 

1) Dividend from co-operative society 

2) Dividend from foreign company 

3) Dividend from domestic company  

4) Winnings from lottery 

fPo;f;fz;l tUkhdj;jpy; vJ tUkhd thpf;Fl;glhJ? 

1) $l;LwT rq;fj;jpypUe;J Mz;L gq;fPl;Lj;njhif 

2) may;ehl;L fk;ngdpapypUe;J ngw;w Mz;L gq;fPl;L njhif 

3) cs;ehl;L fk;ngdpapypUe;J ngw;w Mz;L gq;fPl;L njhif 

4) yhl;lhp öÁØÔ°À ,Ue;J ngwg;gl;l gzk; 
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73. Dividend from co-operative society are 

1) Exempted 

2) Taxable 

3) Partially Exempted 

4) Partially Taxable 

$l;LwT rq;fq;fsplkpUe;J tUk; gq;fPl;bw;F 

1) tpyf;F cz;L 

2) thp cz;L 

3) rpwpjsT tpyf;F cz;L 

4) rpwpjsT thp cz;L 

74. Unabsorbed depreciation can be carried forward for set off 

1) For a period of four years only 

2) For a period of eight years only 

3) For an unlimited number of years  

4) For a period of eighteen years only 

vLj;Jf; nfhs;sg;glhj, gz kjpg;Gf; SøÓÄ mLj;jjpw;F vLj;Jf;nfhs;sg;gLk; 

1) 4 tUlq;fSf;F kl;Lk; 

2) 8 tUlq;fSf;F kl;Lk; 

3) vt;tsT tUlkhdhYk; 

4) 18 tUlq;fSf;F kl;Lk; 

75. Under the income-tax act, the incidence of taxation depends on 

1) The citizenship of the tax-payer 

2) The age of the taxpayer 

3) The residential status of the tax-payer  

4) The gender of the taxpayer 

tUkhd thpr;rl;lj;jpd; fPo; thptpjpf;fg;gLk; epfo;Tfs; fPo;fz;l xd;iwr; rhh;e;jJ 

1) thpfl;Lgth;fs; Fbkfd;fshf ,Uf;f Ntz;Lk; 

2) thpfl;Lgth;fspd; taJ 

3) thpfl;Lgth;fspd; ,Ug;gplk; 

4) thpfl;Lgth;fspd; ghypdk; 

————————
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ROUGH WORK 



M0203  G 28

ROUGH WORK 
 


